e 47

[
L uidE s, 9

FEE

% 228




%12 % X A 272

—

= &
T L+ Hn F o= &
(R. Resnick) (D. Halliday)
i &



REREASTAE = A9 K
KE EEEARE

EoR EENERDOTE
UHREIEBRELD
HEEx B + #H E r &
S OO S S O 1
BHA O OH i #x
IR & EELERRROERAR

Bkt i 2 — O A it
TEEh 1 3819470 FHE : 6481
MRAE £ = W R K
e TR AN E R i

TBERHRTLT RS TARIULR
(66022)




h 2 F K
(BBIHERAZINE, BRRTES)

P &% 3 ¢

KEhTHiE c*(=E/m)
€T G
LR R
ARby=Aa 8 T.,
2 2K E o
5’.'@’%’3}; _ &
LR Lk XX T N,
EEEET TR k
WAXTH h
EAEH e
TFHEAE m,
EFH Kk e/m,
F#L0¥ ny
Yt ae s

3.00x 10°% /# =1.86 X 10°Y2/#
931MeV /amu=28.99 X IO‘B:&H-/ﬁ‘f_.
6.67 X 107 44 R2 /4T 3.2

8.31 £ F/ AW K°=199F/FRK®
=0.0823 #F atm/E# K°
273.16 °K

1.26x107° F4) /%
8.85Xx 107"% i3 /K
6.0210% 5% /
1.38xX 107** & ¥ /5F K°
6.63X 107 & FH-4)

1.60X 107 Bdr

9.11 X 1073 443,

1.76 X 10" Bér/4t 4
1.67X 1072 44+ %,

9.27 X lO‘fz’ £ H./tesla



v

& & F K (STP)

A R (20°C)

KA (20°C)
FRER(STP) T2 ik
€ ek B ()
BERFRY

SRR 12
R T4 5 A
wTk- AT s
wIEHE
KR A3 (0°C, 1atm)
AR (100°C, 1atm)
R OPREE

£ #.(20°C)Z ()
A ERRME K

K 37 4 £ (@5892A)
R8T 41 F (@5892A)

I8

D A

1.29 4430 /%°

1.00 X 10° £ 3%5./k"

13.6 X 10° {F 3. /%°

331 % /4 = 1090 R /4

9.81 /42 =32.2R/H*

1.01 X 10° #-4/K = 1478 /¢
=760 ERAKBAL

6.37 % 10° %= 3960°%

1.49% 10 4% =92.9x 10°*®
380X 10° 4k =239X10°
598X 10%* 4+ 4,

9.7 ¥/ %

| S0 F/A

0.00°C=273.15°K
1.40

5892A

1.33

1.52



23

R S |- X - SO

121
12-2

el R
B

13-1 IR%E

13-2 e T
13-3 i EE)

13-4 fHEEEEIGER

BPOEE T e

14-1
14-2
14-3
14-4

i My
EHENEK.G
BEEEMEHEER
HRIGHENED
e

14-5 EITMEE, g

M-I B ST s

15~1
15-2
15-3

ik

B 77 SR B

7 1L U 2 P B Ty g
1t

KRR

s B

12-3

13-5
13-6

13-7

R
I~15
45y 2
e 16~45
WEESHLER
e A B A% A
"B HIR,
EREB RS
46~81
ENH ?
ARG ENEE)
B KL
SHURMMOME
ARAEEEDNE
BBy
82~ 110
L SRR R P2
BEm
AR
L R



2 YEBREARE

15-7 Wimfosgid AR 15-9
158 MEFHAHFER

%ﬁﬁ&ﬁ ﬁﬂﬁﬂgyﬁﬁmgmmmmmm

16-1 B 16-6
16-2  Hero 5l 16-7
16-3 AT 16-8

16-4 SREGK by #ss 16-9
16-5 HEHPITHAEBZRE

ﬁ?ffﬁi %ﬂznmmmmmm

17-1 gk, BREEE 174

T 17-5
172 #EPs AR 17-6
17-3  #ETHE

g AE i
18-1 EBMELHT 18-4

18-2 #FH—RFHESE 18-5
TER 18-6
18-3 REMNE 18-7

B TEATER
A EAEA

vreeseerens111~140

ERIFE
Wi T
Bkl
23R

‘.........'...141~155

S IES =27
H
# g

verreenneeanees 166~182

HEAREE
WERNEREE
B e 1 R R AR
BAzhR

19-1 #H—BEEH—BY 195

=W 19-6
19-2 #EMHE, 19-7
19-3  #h4H

19-4 B R

#BLzh
REBEN—ER
BpRE-ERNE
A



=] x 3

ceennenaes203~235

1 F S Bl i R
R
Eh-diopishig
A8 B R
5T RA 7 Hi

BAE FELEIIT e
20-1 i 20~5
202 HEERHE—EB  20-6

st 20-7
20-3 MERHE—WEY  20-8

st 20-9
20-4 BRIHEBHE
21-1 M 21-5
21-2 WHABMAWHE  21-6

B 21-1
21-3 REMEE 21-8
21-4 BEBHE TR

2 PP e

E— AR
H— Rl B E
Ma TN E AR




EE
B 2 -F &

(Equilibrium of Rigid Bodies)
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